ECOG

ECONOMICS — Part - I ( General ) Paper - I

Duration : 3 Hours ] | Maximum Marks : 80

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.

1. Answer any ten questions 10 x 2 =20
@ 1A weife e B fae g
a) What is an inferior good ?
8 = f 2
b) Define the law of diminishing marginal productivity.
AR A Sevimm Rfga Age fua |
c) What do you mean by opportunity cost ?
Lie W eI B @RI 2
d) What is isoquant ?
oA (R FICP 0 ?
e) Define income elasticity.
o Rfogeteer sice fra |
f) What is a budget line ?
s @9 e
g) Define marginal rate of substitution ( MRS ).
4 sfRadwr 2w it i |
h) What is short run in economics ?

wffqvr e & 2
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ECOG

i)

What is marginal revenue ?

o1 - & 2

J) Explain the concept of production function. -
Teoma SLTHITA ARG A1 39w
k) What is price discrimination ?
WIS e & 2
\ Define the value of marginal product ( VMP ).
AT Besima TR Kl
m)  What is real wage ?
o wed! e ¢
n) What is normal profit ?
ek el & 2
(o)) What do you mean by constant returns to scale ?
AR WTSEHR Afon Fe1ce & @ARIm 2
2. Answer any three questions 3x5=15
@ (@17 f&af6 o Baa fuw ¢
a) On what factors does the price elasticity of a commodity depend ?
@R 93 TR 7w FFfogome @R @R Rewm Sor et 2
b) Under what conditions can a monopolist charge-different prices for the same
product ?
(TR (I *I0E GG GO PRI G2 AR &) o7 v g aed 2
c) What factors determine real wage of a worker ? -
@R JRFA oo g (@R R R Top RSz 37 2
d) Explain the law of diminishing marginal utility.
FagA o1 Sozar R i 3w |
€) Explain the properties of an indifference curve.
Frtems @l (Bl sesa T
f) With the help of diagram, discuss the relation between average cost and

marginal cost curves.

foraa g 51v 3 ¢ 28 T @[ T=AE WA I |
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b)

c)

d)

e)
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3. Answer any three questions 3x15=45
@ I fenfe s ©ea fua ¢
a) What is consumers’' equilibrium ? Show how a consumer determines the

equilibrium combination of consumer goods subject to budget constraint.
3+12

(SIER SN & 2 (A (@R (orw! [Ferr [ S € (o19ERR I (S1EER
SIgAN Ry [dfad Fc@ |

i) Explain why the short period Average cost curve is ‘U’ shaped.
FHPIFR 9 W @4 U APFoa 20 @ ¢

if) How do you construct long period average cost curve from short
period average cost curve ? 8+7

IR THE 510 TF @A HAZIC TSN TG 7 @ % 331 97 ?

How do you measure price elasticity when the demand curve is (i) a straight
line, (ii) not a straight line ? 8+7

fFeia niv Bfogvase sfasiel $acaw 999 5ifew @A () FI9@A T, (i) SHE@LN 7 2

Explain the short run equilibrium of a firm under perfect competition. Why do
all firms earn only normal profit in the long period equilibrium under perfect
competition ? 8+7

fefixr eforafiters T FoReICe (o G efobita, SR e e | Adice @]
TR IS ARGV ST SREW ST AR A S&e I (I S I |

What is Economic rent ? Explain the modern theory of rent. -3+ 12
e el & 7 AR Sgfas ©F A T

How is equilibrium rate of interest determined with the help of Keynesian
Liquidity Preference Theory of Interest ?

(AR 517 e STGA HILIC SN SRANG Hor T Ffids 2 SHcase e |
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